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import java.util.Stack;

public interface Key {
public void operateOn(Stack<{Integer> stack);
1
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import java.util.Stack;

enum DigitKey El Key {

DIGIT®, DIGIT1, DIGITZ, DIGIT3, DIGIT4,
DIGIT5, DIGIT6, DIGIT7, DIGITS, DIGITY;
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public void operateOn(Stack<Integer)> stack) {

stack. push(E x 10 4 );

}

(Fa2'35h3)
import java.util.Stack;

enum OperationKey [:::::::] Key {

ADD, SUBTRACT, MULTIPLY, DIVIDE, EQUAL, CLEAR;

public void operateOn(Stack{Integer> stack) {
if (this == EQUAL || this == CLEAR) {
return;
}
int val2 = stack.pop();
int vall = stack.pop();
stack. push(calculate(vall, val2));

private int calculate(int vall, int val2) {
switch ([:::::::]) {
case ADD:
return vall + val2;
case SUBTRACT:
return vall - val2;
case MULTIPLY:
return vall % val2;
case DIVIDE:
return vall / val2;
default:
throw new AssertionError(toString());
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import java.util.Stack;

public class Calculator {
private final Stack<Integer> stack = new Stack<{Integer>();



private Key pendingKey;

public Calculator() {
stack. push(0);
}

public void onKeyPressed(Key key) {
System, out.println(key);
if (key instanceof DigitKey) {
if (pendingKey == OperationKey.EQUAL) {
reset();
}
key.operateOn(stack);
System, out.println(stack. peek());
} else if (key == OperationKey.CLEAR) {
reset();
System. out.println(stack.peek());
} else {
try {
if (pendingKey != null) {
pendingKey. operateOn(stack);
}
System.out.printn(stack.peek(}));
pendingKey = key;
if (key != OperationKey.EQUAL) {
stack, push(@);

}
} catch (ArithmeticException e) {

System.out.println("Error”);
reset();

}

private void reset() {
stack.clear();
stack. push(9);
pendingKey = null;
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import java,util,HashMap;
import java.util.Map;

public class CalculatorTest {

public static void main(String[] args) {

Map<Character, III> map = new HashMap<{Character, E>();
// 3XF & FIEOperationKey D EH DR ZmapllHEiHT 5.
for (OperationKey key : OperationKey.values())
map. put ("+-%/=C". charAt (key.ordinal()), key);
/] BEEFIZEDigitkeyD EHD I i & mapili&ilT 5,
for (DigitKey key : DigitKey.values())
map. put ("0123456789". charAt (key. ordinal()), key);

Calculator calc = new Calculator();
String chars = args[0];
// charsDEXFEF—DEICEHRL, XYV v RonKeyPressed#IEUH T,
for (int i = 0; i < chars. length(); i++) {
calc. onKeyPressed(map. get(chars. charAt(i)));
}
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